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Hkkx&1@ Part-1

Marks-30 / vad & 30

 uksV%	bl	Hkkx	esa	dqy	15	ç'u	gSaA	çR;sd	ç'u	vfuok;Z	gSA	çR;sd	ç'u	ds	fy;s	02	vad	fuèkkZfjr	gSaA

 Note: There are 15 questions in this part. All questions are compulsory. Each question carries 02 marks.

 1.	;fn	FINANCE = 39, MARKETING = 52, rc	PRODUCTION = ?	 ¹mÙkj lhek % 20 'kCn]

  If FINANCE = 39, MARKETING = 52, then PRODUCTION = ? [Answer Limit : 20 words]

 2. la[;k	0-01]	la[;k	0-1	dh	fdruh	çfr'kr	gS\	 ¹mÙkj lhek % 20 'kCn]

  The number 0.01, is what percent of number 0.1?

 3. ;fn	9x + 2 > 7x – 2, tgk¡	x	,d	çkÑfrd	la[;k	gS]	ds	gy	dk	leqPp	A	gks	rks	A	Kkr	dhft;sA

	 ¹mÙkj lhek % 20 'kCn]

   If A is the solution set of 9x + 2 > 7x – 2, where x is a natural number, then find A.

 [Answer Limit : 20 words]

 4. ;fn	,d	f=kHkqt	ds	dsaæd	ds	funsZ'kkad	(3, 2)	vkSj	nks	'kh"kks±	ds	funsZ'kkad	(1, 1)	vkSj	(2, 4)	gksa]	rks	rhljs	'kh"kZ	ds	
funsZ'kkad	Kkr	dhft;sA	 ¹mÙkj lhek % 20 'kCn]

  If the co-ordinates of the centroid of a triangle are (3, 2) and co-ordinates of the two vertices are (1, 1) and 
(2, 5), then find the co-ordinates of the third vertex. [Answer Limit : 20 words]

 5.  vuhrk	,d	la[;k	lksprh	gS	vkSj	mlesa	ls	
5
2
	?kVk	nsrh	gSA	bl	rjg	çkIr	la[;k	dks	og	8	ls	xq.kk	dj	nsrh	gSA	

mÙkj	esa	çkIr	la[;k	mlds	}kjk	lksph	la[;k	dk	3	xq.kk	gSA	lksph	xbZ	la[;k	D;k	gS\	 ¹mÙkj lhek % 20 'kCn]

  Anita thinks of a number and subtracts 
5
2

 from it. She multiplies this result by 8. The resulting number so 

obtained is 3 times of the original thought number. What is the number thought by her?

 [Answer Limit : 20 words]

 6. nks	la[;kvksa	dk	;ksx	40	,oa	muesa	vUrj	4	gSA	nksuksa	la[;kvksa	dk	vuqikr	Kkr	dhft;sA  ¹mÙkj lhek % 20 'kCn]

  Sum of two numbers is 40 and their difference is 4. Find the ratio of the two numbers.

 [Answer Limit : 20 words]

 7.  ,d	Ldwy	ds	dqy	350	fo|kfFkZ;ksa	dk	
3
7 	yM+fd;k¡	gSa	rFkk	

2
5
	yM+fd;k¡	fØdsV	[ksyrh	gSa]	fdruh	yM+fd;k¡	fØdsV	

ugha	[ksyrh	gSa\	 ¹mÙkj lhek % 20 'kCn]

  3
7

 of the total of 350 students of a school are girls and 2
5

 of the girls play cricket. How many girls do not 

play cricket? [Answer Limit : 20 words]

 8. rhu	flDds	mNkys	x;sA	uk	3	fpÙk	uk	gh	3	iV	vkus	dh	izkf;drk	D;k	gS\	 ¹mÙkj lhek % 20 'kCn]

  Three coins are tossed. What is the probability of getting neither 3 heads nor 3 tails?

 [Answer Limit : 20 words]

 9. dkxt	dh	nÝrh	dk	,d	vk;rkdkj	VqdM+k	ftldh	yackbZ	4	lseh	rFkk	pkSM+kbZ	2	lseh	gS	ftlesa	ls	o`gÙke	laHko	o`Ùk	
dkVk	x;k	gSA	'ks"k	Hkkx	dk	{ks=kiQy	Kkr	dhft;sA	 ¹mÙkj lhek % 20 'kCn]

   A rectangular sheet of card-board has length and breadth as 4 cm and 2 cm respectively. The largest possible 
circle is cut from this sheet. Find the area of the remaining portion of the sheet.

 [Answer Limit : 20 words]
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 10. uSfrd	ekxZn'kZd	ds	:i	esa	^varjkRek*	dh	O;k[;k	le>kb,A	 ¹mÙkj lhek % 20 'kCn]
  Explain 'Intuition' as source of Ethical guide. [Answer Limit : 20 words]

 11. ^n	fjifCyd*	ds	jpf;rk	dkSu	gSa\	bl	iqLrd	dh	eq[;	fo"k;&oLrq	D;k	gS\	 ¹mÙkj lhek % 20 'kCn]
  Who is the author of 'The Republic"? What is the main subject matter of the book?
 [Answer Limit : 20 words]

 12. D;k	lwpuk	çnku	djuk	^yksd	fgr*	iwjk	djrk	gS\	bls	çtkra=k	dk	egRoiw.kZ	y{k.k	D;ksa	ekuk	tkrk	gS\

	 ¹mÙkj lhek % 20 'kCn]
  Does information sharing serve the public interest ? Why is it an important feature of democracy?
  [Answer Limit : 20 words]

 13. Hkz"Vkpkj	ldkjkRed	'kklu&O;oLFkk	ds	ewy	mís';ksa	dks	dSls	vkgr	djrk	gS\	 ¹mÙkj lhek % 20 'kCn]
  How does corruption hamper the basic aims of positive governance? [Answer Limit : 20 words]

 14. yksd&lsok	esa	v'kDr	oxks±	ds	çfr	laosnuk	dh	D;ksa	vko';drk	gS\	 ¹mÙkj lhek % 20 'kCn]
  Why is the need of compassion towards weaker section in civil services? [Answer Limit : 20 words]

 15. ^fOgfly&cyksvj*	ls	vki	D;k	le>rs	gSa\	^fOgfly	Cyksvj*	ds	çeq[k	dk;Z	D;k	gSa\	 ¹mÙkj lhek % 20 'kCn]
  What do you understand by 'Whistle-blower' ? What are the main functions of `Whistle-blower'?
 [Answer Limit : 20 words]

Part - 2 / Hkkx & 2

Marks-50 / vad	&	50

 uksV%	bl	Hkkx	esa	dqy	10	ç'u	gSaA	lHkh	ç'u	vfuok;Z	gSA	çR;sd	ç'u	ds	fy;s	05	vad	fu/kZfjr	gSaA

 Note: There are 10 questions in this part. All questions are compulsory. Each question carries 05 marks.

 16. mPprj	ewY;ksa	ls	vki	D;k	le>rs	gSa\	mPprj	ewY;ksa	dk	D;k	Lo:i	gS\	 [mÙkj lhek % 50 'kCn]
  What do you understand by Higher values ? What is the nature of higher values?
 [Answer Limit : 50 words]

 17. eukso`fÙk	(vfHko`fÙk)	D;k	gS\	eukso`fÙk	ifjorZu	dh	O;k[;k	dhft;sA	 [mÙkj lhek % 50 'kCn]
  What is 'Attitude' ? Explain changes in Attitude. [Answer Limit : 50 words]

 18. lq'kklu	ds	fy;s	fu;e	vkSj	dkuwu	dk	D;k	egRo	gS\	 [mÙkj lhek % 50 'kCn]
  What is importance of rules and regulations for good governance? [Answer Limit : 50 words]

 19. xk¡/hth	dh	lR;kxzg	dh	vo/kj.kk	Li"V	dhft;sA	D;k	vki	lksprs	gSa	fd	xk¡/hth	us	bls	dsoy	,d	jktuhfrd	
uhfr&dkS'ky	ds	rkSj	ij	viuk;k]	D;ksafd	rc	Hkkjr	vaxzsth	lkezkT;	dh	rkdr	ls	Vdjkus	dh	fLFkfr	esa	ugha	Fkk\

	 [mÙkj lhek % 50 'kCn]
  Explain Gandhi's concept of Satyagraha. Do you think that Gandhi adopted it only as a political strategy 

since India was not in a position to fight the mighty British Empire? [Answer Limit : 50 words]

 20. la[;kvksa	3]	6]	24	vkSj	48	dk	xq.kksÙkj	ekè;	dhft;sA	 [mÙkj lhek % 50 'kCn]
  Calculate geometric mean of the numbers 3, 6, 24 and 48.  [Answer Limit : 50 words]

 21. ,d	fo/ku	lHkk	esa	lÙkk/kjh	rFkk	foi{kh	ny	ds	lnL;ksa	dk	vuqikr	7:3	FkkA	lÙkk/kjh	ny	dks	NksM+dj	18	lnL;	
foi{kh	ny	esa	lfEefyr	gksus	ij	og	vuqikr	3:2	gks	x;kA	ml	fo/ku	lHkk	ds	lnL;ksa	dh	dqy	la[;k	Kkr	dhft;sA		 

 [mÙkj lhek % 50 'kCn]
  In a legislative assembly, the ratio of the members of the ruling party. to the members of the opposition 

party was 7 : 3. Eighteen members of the ruling party left their party and joined the opposition party making 
this ratio to 3 2. Find the total number of members in the assembly. [Answer Limit : 50 words]
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 22. ₹15]000	dh	/ujkf'k	ij	nks	o"kZ	ds	fy;s	lk/kj.k	C;kt	,oa	pØo`f¼	C;kt	dk	varj	₹96	gS	C;kt	dh	okf"kZd	nj	
Kkr	dhft;sA	 [mÙkj lhek % 50 'kCn]

  The difference between compound interest and simple interest on an amount of ₹15,000 for 2 years is ₹96. 
Find the rate of interest per annum. [Answer Limit : 50 words]

 23. 
5 3 3 12 2 75

2 3
− +

+
 dk	eku	 a b 3+ ds	:i	esa	Kkr	dhft;s]	tgk¡	ij a o	b	ifjes;	la[;k,¡	gSaA

 [mÙkj lhek % 50 'kCn]

  Find the value of 
5 3 3 12 2 75

2 3
− +

+
in the form of a b 3+ , where a and b are 2 rational numbers.

 [Answer Limit : 50 words]

 24.  ,d	dkj	çFke	30	fdeh]	20	fdeh@?kaVk	dh	pky	ls]	vxys	30	fdeh]	25	fdeh@?kaVk	dh	pky	ls	rFkk	vkf[kjh	
30	fdeh]	30	fdeh@?kaVk	dh	pky	ls	iwjk	djrh	gSA	dkj	dh	vkSlr	pky	fudkfy;sA	 [mÙkj lhek % 50 'kCn]

   Calculate the average speed of a car running at the rate of 20 km/hour during the first 30 kills, at 25 kmihour 
during the next 30 kms and at 30 krnihour during the last 30 kms. [Answer Limit : 50 words]

 25.  ,d	?kM+h	dh	feuV	dh	lqbZ	dh	yackbZ	14	lseh	gSA	ml	lqbZ	}kjk	5	feuV	esa	r;	fd;k	x;k	{ks=kiQy	fudkfy;sA

	 [mÙkj lhek % 50 'kCn]
  The length of the minute hand of a clock is 14 ems. Find the area covered by it in 5 minutes.
 [Answer Limit : 50 words]

Hkkx 3@Part- 3

Marks 40 @	vad	&	40

 uksV%	bl	Hkkx	esa	dqy	07	ç'u	gSa	rFkk	2	[kaM	gSA	[kaM&1	ds	04	iz'uksa	esa	ls	fdagh	03	iz'uksa	,oa	[kaM&2	ds	3	iz'uksa	esa	
ls	fdagh	02	iz'uksa	dk	mÙkj	fn;k	tkuk	vfuok;Z	gSA	izR;sd	iz'u	ds	fy;s	08	vad	fuèkkZfjr	gSaA

	Note: There are 07 questions in this part in 02 section. It is compulsory to answer any three questions out of four 
selected from Section-1 and any two questions out of three selected from Section-2. Each question carries 
08 marks.

 26. 60	fo|kfFkZ;ksa	ds	,d	lewg	esa	25	fo|kFkhZ	fØdsV]	30	fo|kFkhZ	iqQVckWy	o	24	fo|kFkhZ	gkWdh	[ksyrs	gSa	tcfd	10	
fo|kFkhZ	fØdsV	vkSj	iqQVckWy	nksuksa]	9	fo|kFkhZ	fØdsV	vkSj	gkWdh	nksuksa]	12	fo|kFkhZ	gkWdh	vkSj	iqQVckWy	nksuksa	rFkk	5	
fo|kFkhZ	rhuksa	gh	[ksy	[ksyrs	gSaA	oSu	vkjs[k	dk	mi;ksx	djrs	gq;s	Kkr	dhft;s	fd	fdrus	fo|kFkhZ	dsoy	,d	gh	
[ksy	[ksyrs	gSaA	 

  Out of a group of 60 students, 25 students play cricket, 30 students play football and 24 students play 
Hockey while 10 students play cricket and football, 9 students play cricket and hockey, 12 students play 
hockey and football and 5 students play all the three games. Using Venn-diagram, find the number of 
students who play only one game. 

 27. ,d	O;fDr	vius	/u	dk	12-5»	[kks	nsrk	gS	rFkk	'ks"k	ds	60»	dks	O;;	dj	nsrk	gSA	dqy	/u	dk	ftruk	Hkkx	vc	
mlds	ikl	cpk	gS]	;fn	bl	cps	gq;s	/u	dks	og	8»	lk/kj.k	C;kt	dh	okf"kZd	nj	ls	cSad	esa	2	o"kZ	ds	fy;s	tek	
dj	nsrk	gS	rks	mls	2	o"kZ	ckn	₹2030 feyrs	gSaA	O;fDr	ds	ikl	çkjEHk	esa	dqy	fdruk	/u	Fkk\

  A person loses 12.5% of his money and spends 60% of the remaining money. The part of his total money, 
now left with him, if he deposits this left over money in a bank for 2 years at 8% annual simple rate of 
interest, he gets ₹2,030 after 2 years. What was the total initial money with the person?

 28.  ,d	vk;r	dh	yackbZ	vxj	5	ehVj	de	dj	nh	tk;s	vkSj	mldh	pkSM+kbZ	3	ehVj	c<+k	nh	tk;s	rks	mldk	{ks=kiQy	
9	oxZehVj	de	gks	tkrk	gS	vkSj	vxj	mldh	yackbZ	3	ehVj	c<+k	nh	tk;s	,oa	pkSM+kbZ	Hkh	2	ehVj	c<+k	nh	tk;s	rks	
mldk	{ks=kiQy	67	oxZehVj	c<+	tkrk	gSA	vk;r	dh	yEckbZ	o	pkSM+kbZ	Kkr	dhft;sA

   The area of a rectangle gets reduced by 9 sq. metre, if its length is reduced by 5 metres and breadth is 
increased by 3 metres and if its length is increased by 3 metres and breadth is increased by 2 metres, its 
area increases by 67 sq. metre. Find the length and breadth of the rectangle.
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 29.  fuEufyf[kr	vk¡dM+ksa	ls	ekfè;dk	Kkr	dhft;s	%

	  oxZ varjky ckjEckjrk  

  0- 10  15 

  10 - 20  18 

  20 - 30  20  

  30 - 40  14 

  40 - 50  25 

  50 - 60  40

  Find the median from the following data : 

  Class Interval  Frequency 

  0- 10  15 

  10 - 20  18 

  20 - 30  20  

  30 - 40  14 

  40 - 50  25 

  50 - 60  40

[kaM&2 Sections-2

Ethics/vkpkj'kkL=k

 30. Hkkjrh;	lekt	ds	mRFkku	esa	egf"kZ	n;kuan	ljLorh	ds	;ksxnku	dk	mYys[k	dhft;sA	 [mÙkj lhek % 125 'kCn]

  Point out main contributions of Maharshi Oayanand Indian society.  [Answer Limit : 125 words]

 31. Hkz"Vkpkj	ds	U;wuhdj.k	ds	mik;ksa	dk	mYys[k	dhft;sA	 [mÙkj lhek % 125 'kCn]

  Point out the measures to minimize corruption. [Answer Limit : 125 words]

 32. lkekftd	thou	ds	uSfrd	ewY;ksa	dh	O;k[;k	dhft;sA  [mÙkj lhek % 125 'kCn]

  Explain the moral values of social life.  [Answer Limit : 125 words]

Hkkx 4@Part- 4

Marks 80 @	vad	&	80

 uksV% bl	Hkkx	esa	dqy	07	ç'u	gSa	rFkk	2	[kaM	gSA	[kaM&1	ds	04	iz'uksa	esa	ls	fdagh	03	iz'uksa	,oa	[kaM&2	ds	3	iz'uksa	esa	
ls	fdagh	02	iz'uksa	dk	mÙkj	fn;k	tkuk	vfuok;Z	gSA	izR;sd	iz'u	ds	fy;s	16	vad	fuèkkZfjr	gSaA

 Note: There are 07 questions in this part in 2 sections. It is compulsory to answer any three questions out of three 
question out of four selected form section-1 and any two questions out of three selected from Section-2. 
Each question carries 16 Marks.

 33.  ,d	nokbZ	ds	dSIlwy	dh	vkÑfr]	o`Ùkkdkj	csyu	ftlesa	nksuks	fljksa	ij	xksyk/Z	gksa]	tSlh	gSA	iw.kZ	dSIlwy	dh	yEckbZ	
14	fe-eh-	,oa	O;kl	5	fe-eh-	gSA	bl	dSIlwy	dk	vk;ru	,oa	i`"B	{ks=kiQy	Kkr	dhft;sA	dSIlwy	ij	ehBs	[kk|	
inkFkZ	p<+kus	dk	[kpZ	;fn	₹5	çfr	100	fe-eh-2	gks	rks	,sls	500	dSIlwy	cukus	esa	fdruk	[kpZ	vk;sxk\  

  A medicine capsule is in the shape of a cylinder with two hemispheres stuck to each of its end. The length 
of the entire capsule is 14 mm and the diameter is 5 mm. Find its volume and surface area. If the cost of 
covering capsule with sweat edible coating is ₹5 per 100 mm2 then what will he the total cost of 
manufacturing of 500 such capsules. 
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 34.  ,d	nqdkunkj]	Øsrk	dks	,d	gh	dksV	ij	nks	fodYi	nsrk	gSA
	 (i)	 dksV	dh	₹5,500	ewY;	ij	15%]	10%	o	5%	dh	rhu	Øekxr	NwVA

	 (ii)	 dksV	dh	₹6,000	ewY;	ij	18%]	15%	o	6%	dh	rhu	Øekxr	NwVA	Øsrk	dks	dkSu	lk	fodYi	ykHkdkjh	
gSA

  A shopkeeper gives two options to the buyer of the same coat, 
 (i) on coat's price of ₹5,500, three consecutive discounts of 15%, 10% and 5%. 
 (ii) on coat's price of ₹6,000, three consecutive discounts of 18%, 15% and 6%. Which option will be 

beneficial for the buyer ? 

 35.  fuEu	nks	vko`fÙk	caVuksa	ds	fy;s	igys	dk	ekè;	25-4	rFkk	nwljs	dk	32-5	fudkyk	x;k	gSA	x	vkSj	y	dk	eku	Kkr	
dhft;sA 

 oxZ : 10-20 20-30 30-40 40-50 50-60
vko`fÙk I : 20 15 10 x y
vko`fÙk II : 4 8 4 2x y

   For the following two frequency distributions, the mean calculated for the first was 25.4 and that of the 
second was 32.5. Find the values of x and y.   

 Class : 10-20 20-30 30-40 40-50 50-60
Frequency I : 20 15 10 x y
Frequency II : 4 8 4 2x y

  

 36.  Hkkx&(1)	%		A, B	vkSj	C	,d	dk;Z	dks	vdsys	Øe'k%	6]	8	vkSj	12	fnu	esa	iwjk	dj	ldrs	gSaA	;fn	;s	rhuksa	,d	
lkFk	feydj	bl	dk;Z	dks	iwjk	djus	ij	dqy	₹23-400	dekrs	gSa	rks	bl	dekbZ	esa	C	dk	fgLlk	fdruk	
gksxk\

	 	Hkkx&(2)	%		20	çfr'kr	feFkkby	,sYdksgkWy	ds	?kksy	dks	50	çfr'kr	feFkkby	,sYdksgkWy	ds	?kksy	esa	fdl	vuqikr	esa	
feykuk	pkfg,	rkfd	ifj.kkeh	iksy	esa	feFkkby	,sYdksgkWy	40	çfr'kr	gks	tk;s\

   Part-(l) :  A, B and C each of them working alone can complete a job in 6, 8 and 12 days 
respectively. If all three of them work together to complete the said job, they earn ₹23,400. 
Determine the share of C in their earnings. 

  Part-(2) :  In what ratio should a 20% methyl alcohol solution be mixed with a 50% methyl alcohol so 
that the resulting solution has 40% methyl alcohol ? 

[kaM&2@Sections-2 

Ethics@vkpkj'kkL=k

 37. fofHkUu	fopkj/kjkvksa	ds	}kjk	of.kZr	flfoy	lsok	ds	vfuok;Z	uSfrd	ewY;ksa	dh	O;k[;k	dhft;sA

	 [mÙkj lhek % 250 'kCn]
  Explain the essential moral values of civil service as described by different school of thoughts.
 [Answer Limit : 250 words]

 38.  fuEufyf•r	çdj.k	dks	lko/kuhiwoZd	if<+,	rFkk	mlds	uhps	fy•s	x;s	ç'uksa	dk	mÙkj	nhft,%

	 	Lokfr]	iqfyl	daVªksy	:i	esa	,d	iqfyl	vf/dkjh]	,d	Hk;kud	nq?kZVuk	okyh	txg	igqaprh	gSA	nks	;qok	yksx]	,d	
yM+dk	rFkk	,d	yM+dh	cqjh	rjg	ls	?kk;y	gSaA	mUgsa	rRdky	gh	çkFkfed	fpfdRlk	dh	t:jr	gS	vU;Fkk	mudh	pksVsa	
tkuysok	fl¼	gks	ldrh	gSA	dksbZ	vU;	iqfyl	isVªksy	;k	,Ecqysal	bl	txg	rRdky	ugha	igq¡p	ldrhA	Lokfr	dks	
viuh	i`"B	Hkwfe	dh	otg	ls	iSjk	esfMdy	VªSfuax	çkIr	gSA	mldk	vuqeku	gS	fd	yM+dh	dh	gkyr	,slh	gS	fd	mls	
vdsys	;g	lq/kj	ugha	ldrhA	gkyr	laHkkyus	dh	laHkkouk	cgqr	de	gSA	mls	igys	fdldh	ns•Hkky	djuh	pkfg,\	
;g	mlds	fy;s	d"Vçn	nqfo/k	gSA
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	ç'u%	vki	leL;k	dk	ewY;kadu	dSls	djsaxs\

	 	1-	Lokfr	dks	flDdk	mNkydj	r;	djuk	pkfg;s	fd	og	fdldh	lgk;rk	djs\

	 	2-	Lokfr	dks	igys	yM+ds	dh	lgk;rk	djuh	pkfg,A

	 	3-	Lokfr	dks	igys	yM+ds	dks	ns•uk	pkfg,	D;ksafd	Hkkjrh;	lekt	esa	yM+dksa	dks	ojh;rk	nh	tkrh	gSA

	 	4-	leL;k	dk	dksbZ	Lohdkj	djus	;ksX;	gy	ugha	gSA	 [mÙkj lhek % 250 'kCn]
   Study the following case carefully and answer the questions that follow:
  Swati, a police officer in control room, reaches a scene of a bad accident. Two young persons, a boy and 

a girl, are badly hurt. They need immediate first aid or their injuries will prove fatal. No other police patrol 
or ambulance can reach the site immediately. Swati has good paramedical training because of her 
background. She assesses that the condition of the girl is such that the probability of her single handed 
effort succeeding is slim. To whom should she attend first ? This is an agonizing dilemma for her.

   Question : How will you evaluate the problem?
  1. Swati should toss a coin and decide whom to help.
  2. Swati should help the boy first.
  3. Swati should help the boy as a boy always has priority in Indian society.
  4. There is no acceptable solution to the problem. [Answer Limit : 250 words]

 39. fuEufyf•r	çdj.k	dks	lko/kuhiwoZd	if<+,	rFkk	mlds	uhps	fy•s	x;s	ç'uksa	dk	mÙkj	nhft,%

	 	lqjs'k	us	ekewyh	ls	dkjksckj	ls	dke	'kq:	fd;k	vkSj	/hjs&/hjs	eè;e	ntZs	dh	bathfu;fjax	daiuh	dk	cM+k	ekfyd	cu	
x;k	tc	daiuh	ds	rduhdh	funs'kd	us	nwljh	ukSdjh	ysus	ds	fy;s	in	R;kx	fd;k	rks	og	in	•kyh	gks	x;kA	tc	
lqjs'k	us	çLrko	fd;k	fd	mldk	;qok	iq=k	jkeyky	rduhdh	funs'kd	cuk	fn;k	tk,	rks	funs'kd	eaMy	dks	vk'p;Z	
gqvkA	,d	funs'kd	us	rks	bl	çLrko	dk	•qydj	fojks/	fd;k	vkSj	jkeyky	dh	'kSf{kd	;ksX;rk	ij	lansg	fd;kA	lqjs'k	
us	dgk	fd	mlds	iq=k	us	bathfu;fjax	dh	i<+kbZ	fjeksVZ	osLVcqd	VsfDudy	;wfuoflZVh	ls	dh	gSA	,d	lnL;	ds	iwNs	
tkus	ij	mlus	;g	Hkh	dgk	dh	fjeksV	osLVC#d	VsfDudy	;wfuoflZVh	U;w	esfDldks	esa	ekU;rk	çkIr	fo'ofo|ky;	gSA	
mlus	;g	Hkh	crk;k	fd	jkeyky	us	MsVªkbV	ds	ikl	dqN	dk;Z'kkykvksa	esa	çf'k{k.k	Hkh	fy;k	gSA	mldk	fiQj	Hkh	fojks/	
fd;k	x;k	rks	mlus	;kpuk	dh	fd	mldk	LokLFk	Bhd	ugha	gS	vkSj	;g	fd	;fn	og	chekj	iM+	tk,	rks	og	rks	;gh	
pkgsxk	fd	mlds	ifjokj	ls	dksbZ	dkjksckj	dh	ckxMksj	laHkkysA	mlus	;g	vkSj	dgk	fd	mlds	'ks;j	/kfjrk	ds	cy	
ij	jkeyky	lnL;	pqu	fy;k	tk;sxkA

	 	ç'u %	eku	yhft,	fd	vki	vusd	o"kks±	ls	daiuh	ds	lfpo	gSa	vkSj	lqjs'k	ds	lykgdkj	gSaA	vki	lqjs'k	dks	D;k	
lykg	nsaxs\

	 1-	 D;k	lqjs'k	dks	lykg	nsaxs	fd	Lora=k	funs'kdksa	dh	vksj	ls	bl	çdkj	dk	fojks/	dkWikZsjsV	thou	esa	:Vhu	lk	
gS\	lqjs'k	dks	viuh	fLFkfr	ugha	cnyuh	pkfg,A

	 2-	 vkidh	lykg	gksxh	fd	jkeyky	dks	'kkWi	LVksj	ls	'kq:vkr	djuh	pkfg,	vkSj	Øe'k%	mPprj	mÙkjnkf;Ro	
ysuk	pkfg,A

	 3-	 dEiuh	dks	fdlh	çca/u	ds	vuqHko	okys]	cM+h	vk;q	okys	fdlh	,sls	VsDuksØsV	dks	fu;qÙkQ	djuk	pkfg,	tks	
lsokfuo`r	ds	djhc	igq¡p	jgk	gks	vkSj	mls	jkeyky	dks	dke	fl•kus	ds	fo'ks"k	fe'ku	ds	lkFk	fu;qÙkQ	fd;k	
tkuk	pkfg,A

	 4-	 vkidks	vyx	jguk	pkfg,	D;ksafd	ifjokj	ds	ekeyksa	esa	yksx	rkfdZdrk	dh	ckr	ij	è;ku	ugha	nsrsA

	 [mÙkj lhek % 250 'kCn]

   Study the tblIowing case carefully and answer the 'questions that follow:
   Suresh started a business from scratch, and ended up as substantial owner of a mid sized engineering 

company. The position of technical director in the company fell vacant when its incumbent resigned to 
take up another assignment. To the surprise of the board, Suresh proposed that his young son Ramlal should 
be made a technical director. One director openly expressed his opposition to the proposal and doubted 
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Ramlal's credentials. Suresh replied that his son has studied engineering in Remote Westbrook Technical 
University. In reply to the member's question, he added that Remote Westbrook Technical University is 
an accredited university in New Mexico. Ramlal, he added also took training in some workshops near 
Detroit. When there was further opposition, he pleaded that his health was poor and that he would like 
someone from his family to take reins if he were to become too ill. Ramlal, he added, would be elected a 
member on the strength of his shareholding. 

   Question : Assume that you have been the secretary of the company for many years and have the ears of 
Suresh. What would be your advice to Suresh ? 

   1. You would advise Suresh that such opposition from independent Directors is routine in corporate life. 
Suresh should not change his position. 

   2. Your advice would be that Ramlal should start at the shop floor and then gradually take up higher 
responsibility.

   3. Company should appoint an elderly technocrat with management experience who is nearing retirement 
and he should be appointed with specific mission to groom Ramlal. 

   4. You should stay away because in family matters people do not pay heed to reason. 
 [Answer Limit : 250 words]


